[image: image2.png]




6
RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


S30
Suzuki SFV 650 Gladius 2008-
	Kit for the left side
	Kit for the right side

	
	
	
	
	
	
	
	
	
	

	No.
	Description
	Cat.no.
	Pcs
	
	No.
	Description
	Cat.no.
	Pcs
	

	1
	Steel nut M12
	X12/X2
	1
	
	1
	Steel nut M12
	X12/X2
	1
	

	2
	Duralumin cylinder d=61mm
	28
	1
	
	2
	Duralumin cylinder d=61mm
	28
	1
	

	
	Stainless steel bar M12x435x1,25mm
	N5
	1
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


Installation:
During installation you will need to drill a hole in the cowl. It is therefore necessary interference with the original cowl!
1. dismount the long original bolt M12

2. insert through bar the stainless steel bar M12x435x1,25mm

3. give duralumin cylinder (No. 2) on this stainless steel bar both sides

4. finally screw up all with nuts M12 (No. 1)

5. Put on the crash protektor PHV1 or PHV2 colour cover.

Warning – we recommend to use safety glue on threads of all bolts (moderate strong – blue colour).
[image: image1.jpg]



1

